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1. JFk

In this argument, the arguer concludes/ suggests/ makes a suggestion/ makes a conclusion that...To justify
this conclusion/ suggestion/ argument, the arguer points out/ cites that...The arguer also points out/ cites
that...Although the argument/ conclusion/ suggestion seems plausible, after closely scruinizing this
argument, I find that this argument is logically flawed in several aspects, which render it unconvincing as it
stands.

2. 458

In conclusion, despite that fact that this argument seems appealing, it has several logical flaws, and is
therefore unpersuasive as it stands. To bolster his or her argument, the arguer must provide more
information which can show that...To better support this argument, the arguer should also provide...To
better evaluate this argument, I would also need to know that...

3. A

A threshold problem with this argument involves a survey/ study/ research itself. The statistical reliability
of the survey/study/research/ is really dubious ] %E for the reason that the speaker provide no evidence
which can show that the number of the respondents( X B 8 1 & #e Bl A AF 78 A B REAAR . b e
people(# AT A BEAAR,  LLandb i BT A 19— 28 BE4K) in general. Common sense tells us that the smaller the
size of the sample, the greater the possiblity for biased results, the less reliable the result of the survey and
the less reliable any general conclusions drawn from the survey. That is to say, (/& % 45 X 1) The
number of participants, 100(3 # 44 #), might be just an insufficiently small sample on which cannot be
justifiably relied to draw any reliable conclusions about... Also, the sample might be not necessarily
representative of ()T A #f {4 ). Lacking the information about the randomness and the size of the survey
sample, the speaker cannot convince me to believe in the result of the survey—Iet alone draw any broader
recommendation based on the survey/study/research/ result.

H T 45 & &2 45 11 7] 24 : To better support this argument, the arguer should provide more information to
show that the respondents of the survey are statistically significant in number and can represent the
overall ...
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4. BRIR KRR 2s 1 HoAh AT 5E R0 R (1] 28 ) LI SN melantonin 52 75 75 £ RS 1 SL R AE IR )
The arguer unfairly assumes that the fact that A is due to B. However, there is no sufficient evidence which

can substantiate/confirm this assumption. The speaker overlooks other factors that might also lead to the

fact that (B2 /@ &5 8. tbi, &A|, KF LT, B2 lEHE 4 EMAFE). As amatter of fact, the



fact that A might be explained by a variety of factors. So lacking evidence to confirm this assumption, it is
entirely possible that--It is equalily possible that---Moreover, perhaps that--(— & 1E L FERHELE 3 FhH A
fJ 7] BE 14 ) In short, without considering and ruling out all of these and other possibilities, the credibility of
the arguer’s conclusion is really open to doubt for the reason that each of the possibilities, if true, would
serve to undermine the arguer’s conclusion./ the arguer cannot justifiably concludes that.../ I remain
unconvinced that...

XBARE S, Prars A XN R, DAEEEE .

4k FE 1) )2 45 1) The author must consider and eliminate other possible reasons that may also lead to this
result.

5. FoMRAEAR B L HE M) — e s (B A9k 80 BT —E SBURDM RS T )
Moreover, the argument rests on a unconvincing assumption that A leads to B for the reason that there is no
evidence given to substantiate the claim that A contributes to B. (B 7 7, @l —E &4 — AR E
H A—B XFEMAET o LB SR AT, ARB Bt 2 £ X B JF) Even if it is true that-+-the mere fact
that(¥5 7] Ji (1] 25 £F) does not necessarily indicate that(Ji2 @45 i£). It is entirely possible that(7£ 7=, AKX
AREPES S R SRR A, ERIMAIZS R A R pEE, EAaAE, —ANRKIE, —MRIEE.
B RFKIERE)..Or perhaps---. GXEFBLAEVGEIT 24>, RN KZHF 22 BAEHEMEAHE. 2
;% 1

Thus, given these possible scenarios, the fact(Ji & ] & 1) prove nothing about (J5#451£)

KBUNGE, P H WA IR R, R, TRAE R A WA XA H
BERR Y 3.4 BUER N AZ B, I HAEXH AR 3 28t K 7

6. FHRHKLL

The argument is unconvincing also because it is based on a false analogy. Failing to take into account the
possible differernces between A and B, the arguer makes a hasty analogy. It is entirely possible that A and B
are not similar enough to justify this analogical deduction.(_ [ f¥] A1) F-J& BT A &5 = 25 LU 1 @ 5 8 2R ) A1)
T, RERHIRKL, B4 JIIX VAT E) Perhaps - (P13 Z [A] ] it Z 53 —)Or perhaps-+- (W1 % Z ]
n] B Z 7 ). Therefore, without providing sufficient information showing that most or even all of the
conditions in A and B is similar or the same, the author cannot convince me that the method which is
efficient in A can also be efficient in B as well. (45 &A1) [FFE & B A B R 008 B s AR 1, REE R
K, ZXAE L)

The mere fact that A is scant evidence that B would achieve its goals by following A’s example. Perhaps the
same course of action would be ineffective on B due to geological differences between the two islands. Or
perhaps ... In short, lacking evidence that conditions on the two islands are relevantly similar, the author
cannot convince me on the basis 0fA’s experience that the proposed course of action would be effective in

attaining Tria’s goals.
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7. FRELEL

The arguer commits a false comparison for the reason that there is no evidence which can show that A and
B is comparable at every aspect -+ ( H C. [ & ilE ) Therefore, without showing that A and B are really

comparable at most or even all of their each aspects, the arguer’s comparison is meaningless.
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1. 7% 57 ME&: The arguer unfairly equates A with B. However, there is no evidence in the argument which

can show that A is equal to B. ( _FIXANE M FR 2 AR A 19380 i & B =)

2. & X Y5 A threshold problem involves the definition of A. The arguer does not provide an accutate

and exact definition of A. (YE K3 T G — B 5 MEZK B A/ NEESR)

3. ZWEES[E] 484k : The author’ s inference that -++ rests on the poor assumption that during the -+ (the

interim) all conditions upon which their effectiveness depend have remained unchanged./ It is assumed

without justification that background conditions have remained the same at different times (conditions)
(W7 B IE )

4. WA 7 RS AN ECAS : A(HL/ A 7] )will not possibly earn a substantial profit by - (fiifi) for the

reason that the author provides no information about the costs involved in - It is entirely possible that the

cost of -+*is prohibitively high. If so, then the costs of - might prevent A from earning a profit. In short,

without more information about supply, demand, and production costs, without weighing revenue against

expenses the author’s notion is premature at best.

5. ARb B CGRIKEE BOH H B E DL @42 1A 50

The author’s recommendation is based on the assumption that no alternative means of doing sth are

available or better than the method mentioned above. However, there may be lots of other ways that may be

even better than this method.  Without weighing the proposal against alternatives, the article’s claim

that ... is the “best ” means of achieving ... is wholly unconvincing.
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7. Had ARk

The argument does not indicate how much time passed between the two studies. During a sufficiently long

interim period the demographic makeup of Leeville might have changed, or the reading habits of the first

study’s respondents might have changed. In other words, the longer the time between studies the less

reliable the conclusion that respondents in the first study misrepresented their reading habits.( [} i3 >J 15 75

i)



